
 

1 

2 

+ ln
𝑇1

𝑇2
 

(        
𝑇2

𝑇1
) − 

46670 46,67 



 



  



 

 

      551



 



 

Mivel 𝐴 = 𝑘 ∙ exp (
𝐸a

𝑅𝑇
) és 𝑘 =

𝑘B𝑇

ℎ

𝑘B𝑇

𝑝0 exp (−
∆r𝐺‡

𝑅𝑇
),  és 

𝐸a,inv = 𝐸a − Δr𝐺 és ∆r𝐺inv
‡ = ∆r𝐺‡ − ∆r𝐺, így felírva: 

𝐴inv =
𝑘B𝑇

ℎ

𝑘B𝑇

𝑝0
exp (−

∆r𝐺inv
‡

𝑅𝑇
) ∙ exp (

𝐸a,inv

𝑅𝑇
) =

𝑘B𝑇

ℎ

𝑘B𝑇

𝑝0
exp (−

∆r𝐺‡ − ∆r𝐺

𝑅𝑇
) ∙ exp (

𝐸a − Δr𝐺

𝑅𝑇
) 

𝐴inv =
𝑘B𝑇

ℎ

𝑘B𝑇

𝑝0
exp (

𝐸a − ∆r𝐺‡

𝑅𝑇
) =

𝑘B𝑇

ℎ

𝑘B𝑇

𝑝0
exp (−

∆r𝐺‡

𝑅𝑇
) ∙ exp (

𝐸a

𝑅𝑇
) = 𝐴 = 1,40 ∙ 10−17

m3
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6453 64,53 


